



Résoudre chaque problème.

Réponses

1) $(49 \div 7) \times 6 =$ _____

1. _____

2) $(9 \times 6) \div 5 =$ _____

2. _____

3) $(21 - 7) - 10 =$ _____

3. _____

4) $1 + (7 + 9) =$ _____

4. _____

5) $(72 \div 8) - 6 =$ _____

5. _____

6) $(3 + 1) \times 7 =$ _____

6. _____

7) $(11 - 9) + 7 =$ _____

7. _____

8) $10 + (49 \div 7) =$ _____

8. _____

9) $(5 \times 2) - 2 =$ _____

9. _____

10) $(7 \times 7) \times 3 =$ _____

10. _____

11) $(65 - 5) \div 10 =$ _____

11. _____

12) $(14 - 5) \times 10 =$ _____

12. _____

13) $(13 + 11) \div 6 =$ _____

13. _____

14) $(7 + 6) - 3 =$ _____

14. _____

15) $(9 \times 6) + 2 =$ _____

15. _____



Résoudre chaque problème.

Réponses

1) $(49 \div 7) \times 6 = \underline{42} \quad (7) \times 6$

1. 42

2) $(9 \times 6) \div 5 = \underline{10 \text{ r}4} \quad (54) \div 5$

2. 10 r4

3) $(21 - 7) - 10 = \underline{4} \quad (14) - 10$

3. 4

4) $1 + (7 + 9) = \underline{17} \quad 1 + (16)$

4. 17

5) $(72 \div 8) - 6 = \underline{3} \quad (9) - 6$

5. 3

6) $(3 + 1) \times 7 = \underline{28} \quad (4) \times 7$

6. 28

7) $(11 - 9) + 7 = \underline{9} \quad (2) + 7$

7. 9

8) $10 + (49 \div 7) = \underline{17} \quad 10 + (7)$

8. 17

9) $(5 \times 2) - 2 = \underline{8} \quad (10) - 2$

9. 8

10) $(7 \times 7) \times 3 = \underline{147} \quad (49) \times 3$

10. 147

11) $(65 - 5) \div 10 = \underline{6} \quad (60) \div 10$

11. 6

12) $(14 - 5) \times 10 = \underline{90} \quad (9) \times 10$

12. 90

13) $(13 + 11) \div 6 = \underline{4} \quad (24) \div 6$

13. 4

14) $(7 + 6) - 3 = \underline{10} \quad (13) - 3$

14. 10

15) $(9 \times 6) + 2 = \underline{56} \quad (54) + 2$

15. 56



Résoudre chaque problème.

Réponses

4	42	10 r4	17	90
9	17	56	8	4
147	10	3	6	28

1) $(49 \div 7) \times 6 =$ _____

2) $(9 \times 6) \div 5 =$ _____

3) $(21 - 7) - 10 =$ _____

4) $1 + (7 + 9) =$ _____

5) $(72 \div 8) - 6 =$ _____

6) $(3 + 1) \times 7 =$ _____

7) $(11 - 9) + 7 =$ _____

8) $10 + (49 \div 7) =$ _____

9) $(5 \times 2) - 2 =$ _____

10) $(7 \times 7) \times 3 =$ _____

11) $(65 - 5) \div 10 =$ _____

12) $(14 - 5) \times 10 =$ _____

13) $(13 + 11) \div 6 =$ _____

14) $(7 + 6) - 3 =$ _____

15) $(9 \times 6) + 2 =$ _____

1. _____

2. _____

3. _____

4. _____

5. _____

6. _____

7. _____

8. _____

9. _____

10. _____

11. _____

12. _____

13. _____

14. _____

15. _____